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Note: Figures to the right indicate mark of the respective question.

Q1 . (20)
On 01.01.2005 ; Supreme Limited issued 30,000, 10% redeemable debentures of Rs. 100 each at
5% discount, redeemable at 10% premium on 31.12.2007.

The amount is to be invested in 10% N.G. Bonds (2009) in multiples of Rs. 100. Amount of
annual appropriation is fixed at Rs. 4,00,000.

Pass necessary journal entries and Show Sinking Fund Account for first 5 years.

OR

Q.1 (20)
On 01.01. 2008; following ledger accounts appear in the books of Supreme Limited:

10% Redeemable Debentures Account Rs. 30,00,000 (Redeemable 31.12.2008 @ 10% premium).
Sinking Fund Account: Rs. 24,42,000. Sinking Fund Investment Account: Rs. 24,42,000. (In 10%
N.G. Bonds 2008). Premium on Redemption of Debentures: Rs. 3,00,000.

Annual appropriation amount was fixed at Rs. 4,00,000. On 31.12.2008; all investments were
sold at Rs. 24,60,000 and all debentures are redeemed. ’

You are required to show the following Ledger Accounts:

(1) 10% Redeemable Debentures Account.

(2) Sinking Fund Account.

(3) Sinking Fund Investments Account.

(4) 10% Debenture holders Account.

(5) Premium on Redemption of Debentures Account.
Also pass necessary journal entries.

Q.2(a) (06)
B Limited has 4000 6% redeemable preference shares of Rs. 100 each fully paid. The company
decides to redeem the shares on 31.12.2009; at a premium of 8%. The company makes the
following issues for the purpose of redemption:

a) 2,000 equity shares of Rs. 100 each at a premium of 10%.

b) 2,000 7% debentures of Rs. 100 each at a premium of 3%.
The issue was fully subscribed and all allotments were received. The redemption was duly
carried out. The company has general reserve of Rs. 3,75,000.

Give journal entries recording the above transactions.
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Q2 (b) (06)
The following is the balance sheet of Shivam Limited as at 31.12.2008.

Liabilities Rs. Assets Rs.
Issued Share Capital: Fixed Assets 6,90,000
39,000 equity shares of Rs. 10 Current Assets 3,22,000
Each fully paid 3,90,000

16,000 6% redeemable preference
Shares of Rs. 10 each fully paid 1,60,000

Reserves & Surplus:

Profit & Loss Account 3,70,000
Current Liabilities:

Sundry Creditors 92,000

10,12,000 10,12,000

The preference shares were redeemed on 01.01.2009 at a premium of Rs. 2 per share. The
whereabouts of the holders of 1200 such shares not being known. The company issued
10,000 equity shares of Rs. 10 each at a premium of Rs. 2 per share for redemption.

Give journal entries to record the above transactions in the books of the Shivam
Limited.

Q2 () (08)
Following is the balance sheet of GMM Limited as on 31.03.2009:
Liabilities | Rs. Assets Rs. |
10% Preference Shares of Rs. 100 Sundry Assets 7,00,000 |
' Each, fully paid 2,00,000 | Bank Balance 1,70,000 |
| Equity shares of Rs. 100 each | E
| fully paid 3,00,000 | |
| Capital Reserve 30,000 |
| General Reserve 1,40,000 | |
i_lzr_ofit & Loss Account 70,000 _I_ B
Creditors 1,30,000 '
8,70,000 8,70,000

Preference shares are redeemable at a premium of 20% on 01.04.2009. The directors decided to
affect the redemption partly out of proceed of fresh issue of 1,000 equity shares @ Rs. 110 per
share and partly out of profits of the company.

The shares were duly redeemed and the directors issued one fully paid bonus share to the
holders of every four shares (including those of new issue) out of the Capital Redemption
Reserve Account.

Pass journal entries in the books of the company
OR
Q.2 (a) (08)

What are the provisions of the companies Act 1956 regarding redemption of preference shares?
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Q-2 (b)

Write short notes on:

(a) Capital Redemption Reserve

(b) Proceeds of Fresh Issue of Shares.

)

Q-2(c)

List the sources of bonus shareholders

Q.3

(08)

(04)

(20)

Prepare Balance Sheet of Payal Limited in vertical form with necessary schedules from the
following balances and additional information as on 31.03.2011

Debit Balances Rs. ' Credit Balances Rs.
Goodwill 45,000 | Equity Share Capital 8,00,000
Interest accrued on investment 6,000 | General Reserve 2,60,000
Stock 1,35,000 | Capital Reserve 60,000
Debtors 1,60,000 | Creditors 80,000
Capital Work In Progress 3,50,000 | Loan from directors 1,10,000
Buildings (cost: Rs. 6,00,000) 4,50,000 | Loan from IDBI 1,45,000
Machinery (cost: Rs. 5,00,000) 3,90,000 | Interest accrued but not due on
Cash & Bank 60,000 | IDBI loan 15,000
Shares in Kajal Limited of Rs. 10 . Proposed Dividend 70,000
Each Rs. 7.50 paid per share 90,000 | Unclaimed Dividend 26,000
Underwriting commission B 15,000 | Profit & Loss Account 55,000
Custom deposit 37,000 | Provision for tax 45,000
Goods in transit 20,000 | Public deposit 50,000
Loose tools 18,000 | Bank Loan (secured) 80,000
Stores and spare parts 25,000 | Gratuity Fund 65,000
Gujarat Government Securities 60,000

18,61,000 18,61,000 |

Additional Information:

1. Authorized capital of the company is Rs. 20,00,000 comprising equity shares of Rs. 10

each.

2. Out of equity capital issued 7,500 fully paid up equity shares are issued for

consideration other than cash.

3. Rs. 60,000 was transferred to general reserve this year.
4. A claim of Rs. 40,000 for accident compensation is pending in the labour court against

the company.

Q.3

Write short notes:

OR

(1) Revenue Recognition (Accounting Standard - 9)
(2) Objectives of Financial Statements.
(3) Factors affecting value of Goodwill.

(20)



Q4 (20)
From the following annual accounts of ABC Limited for the year 2007 and 2008.
Revenue Statements
2007 2008
Rs. Rs. Rs. Rs.
Sales:
Cash 60,000 64,000
Credit 5,40,000 6,00,000 6,84,000 7,48,000
Cost of Sales 4,72,000 5,96,000
Gross Profit 1,28,000 1,52,000
Expenses: 1
Warehousing & Transport 38,000 48,000
Administration 38,000 38,000
Selling 22,000 28,000
Debenture Interest - 4,000
98,000 1,18,000
Net Profit 30,000 34,000
Balance Sheet
2007 2008
Rs. Rs. Rs. Rs.
Fixed Assets Less Depreciation 60,000 80,000
Current Assets:
Stock 1,20,000 1,88,000
Debtors 1,00,000 1,64,000
Cash 20,000 2,40,000 14,000 3,66,000
3,00,000 4,46,000
Share Capital 1,50,000 1,50,000
Reserves 30,000 60,000 |
Profit & Loss Account 20,000 24,000 |
Debentures - 60,000
Current Liabilities 1,00,000 1,52,000
3,00,000 4,46,000

Note: Assume 360 operating days in a year.

You are required to calculate following accounting ratios for both years.

1) Current Ratio

2) Liquid Ratio

3) Gross Profit Ratio
4) Net Profit Ratio

5) Net Profit to Capital Employed

6) Debtors Turnover

OR




Q4

(1) Limitations of Ratio Analysis -~ Explain.
(2) Explain Accounting Standard - 2 on Valuation of Inventories.
(3) From the information given below, calculate the following ratios.

(1) Quick Ratio
(3) Debt - Equity Ratio

(2) Stock Turnover Ratio
(4) Return on Investment

(20)

Information: Current Assets Rs. 5,00,000; Opening Stock Rs. 50,000; Closing Stock Rs. 1,50,000;
Cost of Goods Sold Rs. 12,00,000; Gross Profit Rs. 2,00,000; Indirect expenses Rs. 20,000; Equity
Share Capital Rs. 7,00,000; 10% Preference Share Capital Rs. 3,00,000; 12% Debentures Rs.

2,00,000; Current Liabilities Rs. 2,00,000; General Reserves Rs. 1,00,000

Q5 (20)

The Balance Sheet of a company as at 31.03.2001 was as follows:

Liabilities Rs. Assets Rs.

Share Capital: Land & Buildings 1,10,000

2,000 Shares of Rs. 100 each 2,00,000 | Plant & Machinery 1,30,000

General Reserve 40,000 | Patents & Trade Marks 20,000

Profit & Loss Account 32,000 | Stock 48,000

Sundry Creditors 1,28,000 | Debtors 88,000

Income Tax 60,000 | Bank Balance 52,000

Preliminary expenses 12,000

4,60,000 - 4,60,000

Land & Buildings valued at Rs. 2,40,000; Goodwill Rs. 1,60,000; and plant & Machinery Rs.
1,20,000. Depreciation is charged @ 15% on Plant & Machinery and 10% on building. Out of the
total debtors it is found that debtors of Rs. 8,000 are bad.

The profits of the company have been as follows:

1998 - 1999: Rs. 80,000; 1999 - 2000: Rs. 90,000; 2000 - 2001: Rs. 1,06,000.
The company follows the practice of transferring 25% of profits to general reserve. Similar type
of companies earn at 10% of the value of their shares.
Ascertain the value of the company’s shares under:

1) Intrinsic Value Method;
2) Yield Value Method and
3) Fair Value Method

Q5

What is Goodwill? Explain the various methods of valuation of Goodwill.

i
L

OR

o 3 -
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